Lecture 4
Selecting the Optimal Health Insurance Program for Employees and Employer
Case Study No.1
Suppose that the frequency distribution of the cost of medical care, according to the number of employees, during the last 5 years in your company as follows:
	Cost of Medical Care
(Thousands SR)
	Number of Employees

	0-50
	295

	50-100
	70

	100-150
	55

	150-200
	45

	200-250
	25

	250-300
	10

	Total
	500


Assuming you're working manger of risk management at this company. And you want to decide which of the following best medical care programs for employees, and to manage the risks of optimal medical care:

1. Retain the possible cost medical care, with the cost of anxiety SR 35000

2. Retain the possible cost medical care, but the establishment of the company's internal medical clinic only for medical diagnosis, with an average annual cost of SR 4500  (with the cost of anxiety SR 30000), that will change the frequency distribution in the above, as follow:
	Cost of Medical Care

(Thousands SR)
	Number of Employees

	0-40
	301

	40-80
	80

	80-120
	52

	120-160
	39

	160-200
	20

	200-240
	8

	Total
	500


1. Purchase health insurance policy that will cover cost medical care up to SR 100,000 for a premium SR 10000. (with the cost of anxiety SR 20000)

2. Purchase health insurance policy that will cover cost medical care up to SR 200,000 but not the first SR 5,000 (deductible) for a premium SR 11000. (with the cost of anxiety SR 15000)

3. Purchase Saudi Health Insurance Policy that will cover all costs medical care (up to SR 500,000)  for a premium SR 20000. (with the cost of anxiety SR 5000)

Which of the five previous programs to better manage the risks of medical care in the company?
Probability distribution under retention of cost medical care
	Cost of Medical Care

(Thousands SR)
	Number of Employees
	The Probability

	0-50
	295
	0.59

	50-100
	70
	0.14

	100-150
	55
	0.11

	150-200
	45
	0.09

	200-250
	25
	0.05

	250-300
	10
	0.02

	Total
	500
	1


Probability Distribution under medical second program
	Cost of Medical Care

(Thousands SR)
	Number of Employees
	The Probability

	0-40
	301
	0.602

	40-80
	80
	0.16

	80-120
	52
	0.104

	120-160
	39
	0.078

	160-200
	20
	0.04

	200-240
	8
	0.016

	Total
	500
	1


3

